
Q.1 अलेƥा का जɉ अपनी माँ की शादी के एक वषŊ बाद Šआ था। उसके िपता उसकी माँ से दो वषŊ बड़े हœ
और अलेƥा से पǄीस वषŊ बड़े हœ, जो इस समय छह वषŊ की है। उसकी माँ की शादी िकस उŲ मŐ Šई
थी?

Ans 1. 21 वषŊ

2. 25 वषŊ

3. 31 वषŊ

4. 22 वषŊ

Question ID : 81616112724

Status : Answered

Chosen Option : 4

Q.2 िकसी िविशʼ कूटभाषा मŐ 'INERTIA' को 'RGVKGBZ’ के ŝप मŐ िलखा जाता है। तो उसी भाषा मŐ
‘FLOWER’ को कैसे िलखा जाएगा?

Ans 1. ULEVPK

2. VEMPUL

3. EVPMUL

4. UELPVK

Question ID : 81616113521

Status : Not Answered

Chosen Option : --
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Q.3

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112220

Status : Answered

Chosen Option : 3

Q.4 वह िवकʙ चुनŐ जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ पहले शɨ से संबंिधत
है।

Ůफुİʟत : उदास :: शांत करना : ?
Ans 1. िनराकरण करना

2. राहत देना

3. धीरज देना

4. भड़काना

Question ID : 81616112206

Status : Answered

Chosen Option : 4

Q.5 िदए गए िवकʙों मŐ से वह वणŊ-समूह चुनŐ जो िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?

DVG, ITM, NRS, SPY,?

Ans 1. WOE

2. XNE

3. XOF

4. WNF

Question ID : 81616112707

Status : Answered

Chosen Option : 2
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Q.6 िदए गए पैटनŊ का ȯानपूवŊक अȯयन करŐ और वह संƥा चुनŐ जो Ůʲिच˥ (?) के ̾थान पर आ सकती
है?

7 35 13
9 24 14
13 120 ?

Ans 1. 26

2. 20

3. 28

4. 24

Question ID : 81616113529

Status : Not Answered

Chosen Option : --

Q.7 ˢाित, अिनल की इकलौती बहन अƗरा की बेटी है। अिनल की माँ गौरी है। कािमनी, गौरी की माँ है।
कािमनी का पित गौरव है। पूनम, गौरव की सास है। ˢाित का गौरव से Ɛा संबंध है?

Ans 1. पोती/नाितन

2. बेटी

3. परपोती/परनाितन

4. परपोती की बेटी

Question ID : 81616112716

Status : Answered

Chosen Option : 3

Q.8 नीचे चार वणŊ-समूह िदए गए हœ िजनमŐ से तीन िकसी संदभŊ मŐ एक समान हœ और उनमŐ से एक असंगत
है। उस असंगत वणŊ-समूह का चयन करŐ।

Ans 1. GDAW

2. SPMJ

3. CZWT

4. PMJG

Question ID : 81616112204

Status : Answered

Chosen Option : 1

Q.9 अƗरो ं के उस संयोजन को चुनŐ जो दी गई Şंखला मŐ įरƅ ̾थानो ं पर Ţिमकŝप से रखे जाने पर
Şंखला को पूरा करेगा।

m_tq_ml_qrm_tq_m_t_r

Ans 1. l, q, r, l, l, r, t

2. l, l, q, r, l, r, t

3. l, r, t, l, r, l, q

4. l, t, r, l, l, r, q

Question ID : 81616112715

Status : Answered

Chosen Option : 3
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Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112729

Status : Answered

Chosen Option : 1

Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 81616113539

Status : Answered

Chosen Option : 1

Q.12 िकसी िविशʼ कूटभाषा मŐ, ‘PRIVATE’ को ‘93236441540’ और ‘SHORTEN’ को ‘1615383652840’
के ŝप मŐ कूटबȠ िकया गया है, तो उसी भाषा मŐ ‘REFUSAL’ को कैसे कूटबȠ िकया जाएगा?

Ans 1. 563642112438

2. 561842212219

3. 521361212438

4. 512362112438

Question ID : 81616113421

Status : Not Answered

Chosen Option : --
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Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112728

Status : Answered

Chosen Option : 4

Q.14 नीचे चार शɨ िदए गए हœ िजनमŐ से तीन िकसी संदभŊ मŐ एक समान हœ और उनमŐ से एक असंगत है। उस
असंगत शɨ का चयन करŐ।

Ans 1. अड़चन डालना

2. विजŊत करना

3. अनुǒा देना

4. अटकाना

Question ID : 81616113417

Status : Answered

Chosen Option : 3
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Q.15 गिणतीय िच˥ो ं का वह सही संयोजन चुनŐ िजसे Ţिमक ŝप से * िच˥ो ं के ̾थान पर रखने से समीकरण
संतुिलत हो जाएगा।

221 * 17 * 12 * 130 * 24 * 50

Ans 1. ×, ÷, −, +, =

2. ÷, −, ×, =, +

3. ÷, ×, −, =, +

4. ÷, ×, −, +, =

Question ID : 81616113430

Status : Answered

Chosen Option : 4

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113433

Status : Answered

Chosen Option : 1

Q.17 वह सही िवकʙ चुनŐ जो िदए गए श̭दो ं को उस Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी शɨकोश मŐ
आते हœ।

1. Relatival
2. Relation
3. Related
4. Relative
5. Relatable

Ans 1. 5, 3, 2, 1, 4

2. 5, 2, 3, 1, 4

3. 5, 3, 2, 4, 1

4. 4, 5, 3, 2, 1

Question ID : 81616112203

Status : Answered

Chosen Option : 1
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Q.18 उस िवकʙका चयन कीिजए िजसके शɨों के मȯ वही संबंध है, जो िदए गए शɨ–युƵ के शɨों के
मȯ है।

िबʟी : िबलौटा
Ans 1. शाकŊ  : मेमना

2. गाय : बछड़ा

3. मधुमƀी : रानी मƀी

4. पŐͤİƹन : मृगछौना

Question ID : 81616112712

Status : Answered

Chosen Option : 2

Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112730

Status : Answered

Chosen Option : 3
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Q.20 नीचे चार संƥा-युƵ िदए गए हœ िजनमŐ से तीन िकसी संदभŊ मŐ एक समान हœ और उनमŐ से एक असंगत
है। उस असंगत संƥा-युƵ का चयन करŐ।

Ans 1. 797 : 679

2. 727 : 609

3. 191 : 177

4. 373 : 255

Question ID : 81616113427

Status : Answered

Chosen Option : 3

Q.21 वह िवकʙ चुनŐ जो चौथी संƥा से उसी Ůकार संबंिधत है, िजस Ůकार दूसरी संƥा से पहली संƥा
और छठी संƥा से पाँचवी ं संƥा संबंिधत है।

8 : 24 : : ? : 52 : : 18 : 114

Ans 1. 20

2. 12

3. 14

4. 16

Question ID : 81616113527

Status : Not Answered

Chosen Option : --

Q.22 िदए गए िवकʙों मŐ से वह संƥा चुनŐ जो िनɻिलİखत ŵंृखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगी?

18, 3, 36, 6, 54, 9, ?

Ans 1. 12

2. 90

3. 72

4. 89

Question ID : 81616112213

Status : Answered

Chosen Option : 3
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113434

Status : Not Answered

Chosen Option : --

Q.24 वह िवकʙ चुनŐ िजसमŐ संƥाएँ एक दूसरे से उसी तरह से संबंिधत हœ जैसे नीचे िदए गए सेट की संƥाएँ
एक दूसरे से संबंिधत हœ।

(4, 7, 359)

Ans 1. (10, 3, 172)

2. (6, 8, 548)

3. (5, 4, 98)

4. (3, 2, 71)

Question ID : 81616113429

Status : Answered

Chosen Option : 2

Q.25 िदए गए कथनो ंऔर िनʺषŘ को ȯान से पढ़Ő। कथनो ं मŐ दी गई जानकारी को स̝य मानते Šए, भले ही
वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत हो, िनधाŊįरत करŐ िक कौन से िनʺषŊ िदए गए कथनो ं का
तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
1. सभी पंखे, हीटर हœ।
2. सभी कूलर, पंखे हœ।
3. सभी ɗोįरफायर, कूलर हœ।

िनʺषŊ:
I. सभी ɗोįरफायर, हीटर हœ।
II. कुछ ɗोįरफायर, हीटर हœ।
III. कुछ हीटर, कूलर हœ।
IV. सभी कूलर, हीटर हœ।

Ans 1. केवल िनʺषŊ III अनुसरण करता है

2. िनʺषŊ II और III दोनों अनुसरण करते हœ

3. िनʺषŊ I और II दोनों अनुसरण करते हœ

4. केवल िनʺषŊ I अनुसरण करता है

Question ID : 81616113525

Status : Not Answered

Chosen Option : --
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Q.1 ‘नाथू ला दराŊ’ भारत को इसके िकस पड़ोसी देश से जोड़ता है?

Ans 1. चीन

2. बांƸादेश

3. भूटान

4. नेपाल

Question ID : 81616113448

Status : Answered

Chosen Option : 3

Q.2 िनɻ मŐ से िकसने वषŊ 1877 मŐ अशोक के िशलालेखो ं का एक सेट Ůकािशत िकया था?
Ans 1. कॉिलन मैकŐ ज़ी

2. डी.सी. सरकार

3. अलेƂŐडर किनंघम

4. एम.एस. वȖ

Question ID : 81616113555

Status : Not Answered

Chosen Option : --

Q.3 काला-अजार रोग ______ के कारण होता है।
Ans 1. Ůोटोजोआ

2. वायरस (िवषाणु)

3. जीवाणु (बैƃीįरया)

4. कवक (फंगी)

Question ID : 81616113544

Status : Answered

Chosen Option : 1

Q.4 अƃूबर 2020 मŐ Ůȑेक Ťामीण पįरवार को नल-जल कनेƕन Ůदान करने वाला पहला राǛ िनɻ मŐ से
कौन सा है?

Ans 1. िसİſम

2. पिʮम बंगाल

3. गोवा

4. िबहार

Question ID : 81616113445

Status : Not Answered

Chosen Option : --

Section : General Awareness
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Q.5 Ƹाइकोजन नामक पेɐाइड हामŖन, ______ Ȫारा ŷािवत होता है।
Ans 1. अिधवृſ

2. हाइपोथैलेमस

3. अƱाशय

4. पीयूष ŤİȺ

Question ID : 81616112740

Status : Not Answered

Chosen Option : --

Q.6 भारत ने पीटरसबगŊ Ƒाइमेट वाताŊ 2020 मŐ िहˣा िलया, िजसकी वचुŊअल मेज़बानी ______ ने की थी।
Ans 1. यू. एस. (US)

2. यू.के. (UK)

3. ůांस

4. जमŊनी

Question ID : 81616112755

Status : Answered

Chosen Option : 2

Q.7 िनɻ मŐ से कौन िदसंबर 2020 मŐ भारत का सबसे युवा मेयर बना/बनी? 21 वषŎय यह युवा वतŊमान मŐ
ितŜवंनतपुरम िनगम के मेयर के ŝप मŐ सेवारत है।

Ans 1. मीरा अŤवाल

2. आयŊ राजŐūन

3. रजनी अɬी

4. छिव राजावत

Question ID : 81616112249

Status : Answered

Chosen Option : 2

Q.8 िनɻ मŐ से कौन 'इनƸोįरयस एɼायर: ʬाट द िŰिटश िडड टू इंिडया (Inglorious Empire: What the
British Did to India)' नामक पुˑक के लेखक हœ?

Ans 1. वी.एस. नायपॉल

2. रामचंū गुहा

3. शिश थŝर

4. अिʷन संघी

Question ID : 81616112749

Status : Not Answered

Chosen Option : --
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Q.9 िनɻ मŐ से िकस भारतीय बœक ने माचŊ 2021 मŐ 'िवयर एन पे' (Wear N Pay) नामक कॉȴैƃलेस
िवयरेबल भुगतान उपकरण लॉȳ िकया है?

Ans 1. इंडस इंड बœक

2. आई.सी.आई.सी.आई. (ICICI) बœक

3. एİƛस बœक

4. एच.डी.एफ.सी. (HDFC) बœक

Question ID : 81616113442

Status : Not Answered

Chosen Option : --

Q.10 िनɻ मŐ से कौन ‘अबोड ऑफ लव (Abode of Love)’ नामक पुˑक के लेखक हœ?
Ans 1. शंकर दयाल शमाŊ

2. नरŐū मोदी

3. मनमोहन िसंह

4. ए.पी.जे. अɨुल कलाम

Question ID : 81616112243

Status : Not Answered

Chosen Option : --

Q.11 'साओ जोआओ' उȖव िनɻ मŐ से िकस राǛ से संबंिधत है?

Ans 1. कनाŊटक

2. केरल

3. गोवा

4. तिमलनाडु

Question ID : 81616113440

Status : Not Answered

Chosen Option : --

Q.12 िनɻ मŐ से िकसने जनवरी 2021 मŐ टोयोटा थाईलœड ओपन बैडिमंटन टूनाŊमŐट मŐ पुŜषो ं का एकल İखताब
जीता?

Ans 1. रासमस जेमके

2. िकदांबी ŵीकांत

3. िवƃर एƛेलसेन

4. हंस-िŢİːयन सोलबगŊ िविटंगस

Question ID : 81616113561

Status : Answered

Chosen Option : 3
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Q.13 फरवरी 2021 तक Ůाɑ जानकारी के अनुसार िनɻ मŐ से कौन-सी एक राǛˑरीय पाटŎ है?

Ans 1. भारतीय कʄुिनː पाटŎ

2. आमआदमी पाटŎ

3. बŠजन समाज पाटŎ

4. तृणमूल कांŤेस

Question ID : 81616112751

Status : Not Answered

Chosen Option : --

Q.14 एक ɡूज िनɻ से िकससे िवद्युत पįरपथ की सुरƗा करता है?

Ans 1. Ůवािहत धारा

2. अितभारण (ओवरलोिडंग)

3. ऊजाŊ के एक ŝप से दूसरे मŐ ŝपांतरण

4. Ůेįरत धारा

Question ID : 81616113547

Status : Answered

Chosen Option : 2

Q.15 िनɻ मŐ से कौन-सा अथŊशा˓ की ̊िʼ से हयू्मन वांट्स/मानव चाह (human wants) की एक िवशेषता
है?

Ans 1. वांट्स (चाह) तृɗ होते हœ।

2. वांट्स (चाह) सीिमत होते हœ।

3. वांट्स (चाह) Ůित˙धŎ नही ं होते हœ।

4. वांट्स (चाह) आदतŐ नही ं बनती।ं

Question ID : 81616112734

Status : Not Answered

Chosen Option : --

Q.16 कािठयावाड़ ŮायȪीप िकस भारतीय राǛ मŐ İ̾थत है?

Ans 1. िमजोरम

2. महारा Ō̓

3. राज̾थान

4. गुजरात

Question ID : 81616112238

Status : Answered

Chosen Option : 4

Q.17 भारत की राजधानी िदʟी िनɻ मŐ से िकस राǛ के साथ अपनी सीमा साझा करती है?

Ans 1. हįरयाणा

2. पंजाब

3. राज̾थान

4. िहमाचल Ůदेश

Question ID : 81616112742

Status : Answered

Chosen Option : 3
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Q.18 कोलेजन एक Ůकार का/की ______ है।
Ans 1. िवटािमन

2. वसा

3. Ůोटीन

4. काबŖहाइडŌ ेट

Question ID : 81616112232

Status : Not Answered

Chosen Option : --

Q.19 िनɻ मŐ से कौन हाउसऑफकॉमɌ मŐ सीट जीतने वाले पहले भारतीय थे?

Ans 1. डɰू.सी. बनजŎ

2. एम.एन. रॉय

3. हसरत मोहानी

4. दादाभाई नौरोजी

Question ID : 81616112746

Status : Answered

Chosen Option : 4

Q.20 सर िविलयम जोɌ ने िनɻ मŐ से िकस वषŊ मŐ कलकȅा (कोलकाता) मŐ एिशयािटक सोसाइटी की ̾थापना
की थी?

Ans 1. 1820

2. 1800

3. 1784

4. 1767

Question ID : 81616113452

Status : Answered

Chosen Option : 3

Q.21 फरवरी 2021 तक पुŜष िŢकेट मŐ टेː मैचो ं मŐ गैर-िवकेटकीपर के ŝप मŐ अिधकतम कैच लेने का
įरकॉडŊ िकस भारतीय के नाम है?

Ans 1. राŠल ūिवड़

2. अजय जडेजा

3. सौरव गांगुली

4. मोहʃद अजहŜȞीन

Question ID : 81616112247

Status : Not Answered

Chosen Option : --
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Q.22 िनɻ मŐ से कौन संथाल िवūोह के एक नेता थे?

Ans 1. ˢामी िववेकानंद

2. िसद्धू मांझी

3. बी.आर. अंबेडकर

4. सूयŊ सेन

Question ID : 81616113552

Status : Answered

Chosen Option : 4

Q.23 भारतीय संिवधान के िनɻ मŐ से िकस संशोधन अिधिनयम Ȫारा गोवा को राǛ का दजाŊ िदया गया तथा
दमन और दीव को िमलाकर एक नया कŐ ūशािसत Ůदेश बनाया गया?

Ans 1. 67वाँ संशोधन अिधिनयम

2. 45वाँ संशोधन अिधिनयम

3. 56वाँ संशोधन अिधिनयम

4. 23वाँ संशोधन अिधिनयम

Question ID : 81616113457

Status : Not Answered

Chosen Option : --

Q.24 िनɻ मŐ से िकस राǛ मŐ भारत का पहला िलिथयम आयन बैटरी िविनमाŊण संयंũ ̾थािपत होगा, िजसके
2021 तक चालू होने की उʃीद है?

Ans 1. केरल

2. कनाŊटक

3. गुजरात

4. महारा Ō̓

Question ID : 81616112251

Status : Answered

Chosen Option : 3

Q.25 सोन भंडार गुफाएँ िनɻ मŐ से िकस राǛ मŐ İ̾थत हœ?
Ans 1. ओिडशा

2. िबहार

3. असम

4. उȅर Ůदेश

Question ID : 81616113540

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude
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Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113892

Status : Answered

Chosen Option : 3

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112759

Status : Answered

Chosen Option : 3

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113571

Status : Answered

Chosen Option : 2
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Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113468

Status : Answered

Chosen Option : 2

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112882

Status : Answered

Chosen Option : 1

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113574

Status : Answered

Chosen Option : 4
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Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112253

Status : Answered

Chosen Option : 1

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112771

Status : Not Answered

Chosen Option : --

Q.9

Ans
1. 

2. 

3. 

4. 

Question ID : 81616113472

Status : Answered

Chosen Option : 3
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Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113890

Status : Answered

Chosen Option : 3

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113471

Status : Answered

Chosen Option : 4
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113477

Status : Answered

Chosen Option : 4

Q.13

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112474

Status : Answered

Chosen Option : 1

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113479

Status : Answered

Chosen Option : 2

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113282

Status : Answered

Chosen Option : 1
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Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112774

Status : Answered

Chosen Option : 2

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113577

Status : Answered

Chosen Option : 4

Q.18

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112257

Status : Answered

Chosen Option : 1

Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

21 of 31 9/2/2021, 7:19 PM



Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112767

Status : Not Answered

Chosen Option : --

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112880

Status :
Not Attempted and
Marked For Review

Chosen Option : --
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113464

Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112268

Status : Answered

Chosen Option : 4

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112263

Status : Answered

Chosen Option : 4
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Q.24

Ans

1. 

2. 

3. 

4. 

Question ID : 81616113482

Status : Answered

Chosen Option : 2

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113568

Status : Answered

Chosen Option : 2

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If there is no error, select
‘No error’ as your answer.

My brother / who live in Pune / is arriving tomorrow.

Ans 1. who live in Pune

2. is arriving tomorrow

3. No error

4. My brother

Question ID : 81616113590

Status : Answered

Chosen Option : 1

Section : English Comprehension
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Q.2 Select the most appropriate synonym of the given word.

Principle

Ans 1. Leader

2. Headmaster

3. Axiom

4. Concrete

Question ID : 81616112797

Status : Answered

Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.

Commence

Ans 1. Stand

2. Shoot

3. Start

4. Stop

Question ID : 81616112796

Status : Answered

Chosen Option : 3

Q.4 Select the most appropriate meaning of the following idiom.

To get the ball rolling

Ans 1. To play a ball game well

2. To match an opponent

3. To begin a process

4. To keep working until late

Question ID : 81616113608

Status : Answered

Chosen Option : 4

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sunil have been working as a personal assistant to the Director for two years.

Ans 1. No substitution

2. is working

3. has been working

4. has been worked

Question ID : 81616113493

Status : Answered

Chosen Option : 3
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Q.6 Select the INCORRECTLY spelt word.

Ans 1. Drought

2. Dental

3. Doubt

4. Dictonary

Question ID : 81616112299

Status : Answered

Chosen Option : 1

Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

A person preoccupied with an unrealistically optimistic approach to life

Ans 1. Pragmatic

2. Practical

3. Quixotic

4. Rational

Question ID : 81616113510

Status : Answered

Chosen Option : 3

Q.8 Select the INCORRECTLY spelt word.

Ans 1. Alternate

2. Adviseable

3. Adequate

4. Adamant

Question ID : 81616112300

Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the given word.

Censure

Ans 1. Blunder

2. Applause

3. Contempt

4. Fault

Question ID : 81616113607

Status : Answered

Chosen Option : 2
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Q.10 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The herd are grazing in the fields far away from the farmer’s hut.

Ans 1. The herd has grazing

2. No substitution

3. The herd is grazing

4. The herd is grazed

Question ID : 81616112787

Status : Answered

Chosen Option : 2

Q.11 Select the option that expresses the given sentence in passive voice.

Shiva wrote a letter to the head of the HR Department in response to the
advertisement.

Ans 1. A letter had been written by Shiva to the head of the HR department in response to
the advertisement.

2. A letter was wrote by Shiva to the head of the HR department in response to the
advertisement.

3. A letter was written by the head of the HR department to Shiva in response to the
advertisement.

4. A letter was written by Shiva to the head of the HR department in response to the
advertisement.

Question ID : 81616113491

Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate meaning of the following idiom.

To pay lip service

Ans 1. To make loud statements

2. To talk out of turn

3. To be insincere

4. To ask for permission

Question ID : 81616113609

Status : Answered

Chosen Option : 3

Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

One who supervises in an examination hall

Ans 1. Manager

2. Invigilator

3. Verifier

4. Inspector

Question ID : 81616113509

Status : Answered

Chosen Option : 2
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Q.14 Select the most appropriate option to fill in the blank.

The cabinet has ______ a proposal to change the way universities are funded and
managed.

Ans 1. endangered

2. endeared

3. evaporated

4. endorsed

Question ID : 81616112807

Status : Answered

Chosen Option : 4

Q.15 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Indeed, polymers such as regenerated cellulose, which have become familiar
household materials under the trade names rayon and nylon, are also made into
numerous non-fibre products, ranging from cellophane envelope windows to clear
plastic soft-drink bottles.
B. The chemical compounds from which man-made fibres are produced are known as
polymers, a class of compounds characterised by long, chain-like molecules of great
size and molecular weight.
C. As fibres, these materials are prized for their strength, toughness, resistance to
heat and mildew, and ability to hold a pressed form.
D. Many of the polymers that constitute man-made fibres are the same as or similar to
compounds that make up plastics, rubbers, adhesives and surface coatings.

Ans 1. BCDA

2. BDAC

3. CBAD

4. ACDB

Question ID : 81616113603

Status : Answered

Chosen Option : 2

Q.16 Select the option that expresses the given sentence in indirect speech.

Kamal said, “I have done my work.”

Ans 1. Kamal said that he had done his work.

2. Kamal said I have done my work.

3. Kamal said that he has done his work.

4. Kamal said that I have done my work.

Question ID : 81616112785

Status : Answered

Chosen Option : 1

Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

28 of 31 9/2/2021, 7:19 PM



Q.17 Select the most appropriate ANTONYM of the given word.

Triumph

Ans 1. Failure

2. Celebration

3. Pride

4. Joy

Question ID : 81616112293

Status : Answered

Chosen Option : 1

Q.18 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

At the last meeting / which took place in November, / half the members submitted /
their resignations on protest.

Ans 1. half the members submitted

2. their resignations on protest

3. At the last meeting

4. which took place in November

Question ID : 81616113490

Status : Answered

Chosen Option : 4

Q.19 Select the most appropriate option to fill in the blank.

Researchers have found that 16 facial expressions ______ universally in similar
contexts across 12 world regions.

Ans 1. strike

2. transpire

3. occur

4. befall

Question ID : 81616113513

Status : Not Answered

Chosen Option : --

Q.20 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. He was in the habit of stealing food from others.
B. One night, the villagers decided to teach him a lesson and kept only rotten food in
their kitchen.
C. The culprit ended up eating the rotten food and fell sick.
D. Once upon a time, there lived a man in a village.

Ans 1. ABDC

2. BACD

3. ACDB

4. DABC

Question ID : 81616112289

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each number.

English vocabulary has (1)______ remarkable range, flexibility and adaptability. Thanks to the
periods (2)______ contact with foreign (3)______ and its readiness to (4)______ new words
out of old elements, English seems to have far more words in its core (5)______ than other
languages.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. the

2. one

3. an

4. a

Question ID : 81616112284

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each number.

English vocabulary has (1)______ remarkable range, flexibility and adaptability. Thanks to the
periods (2)______ contact with foreign (3)______ and its readiness to (4)______ new words
out of old elements, English seems to have far more words in its core (5)______ than other
languages.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. on

2. of

3. at

4. to

Question ID : 81616112285

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each number.

English vocabulary has (1)______ remarkable range, flexibility and adaptability. Thanks to the
periods (2)______ contact with foreign (3)______ and its readiness to (4)______ new words
out of old elements, English seems to have far more words in its core (5)______ than other
languages.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. currencies

2. science

3. mathematics

4. languages

Question ID : 81616112286

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each number.

English vocabulary has (1)______ remarkable range, flexibility and adaptability. Thanks to the
periods (2)______ contact with foreign (3)______ and its readiness to (4)______ new words
out of old elements, English seems to have far more words in its core (5)______ than other
languages.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. think

2. discard

3. shed

4. coin

Question ID : 81616112287

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each number.

English vocabulary has (1)______ remarkable range, flexibility and adaptability. Thanks to the
periods (2)______ contact with foreign (3)______ and its readiness to (4)______ new words
out of old elements, English seems to have far more words in its core (5)______ than other
languages.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. catalogue

2. vocabulary

3. selection

4. inventory

Question ID : 81616112288

Status : Answered

Chosen Option : 2
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